EARAROBEEIERT — 2 N— IBISH —F

20165E8H290 (B) 4EIKR6H

m C2—# ¥R B R
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S Ra 3T i :32. -4-1- . — BEAS (KR
AR ST Y =1=EP 3 oS 1(3_2)1 4-4-1-2 | 39.9 2 (1_151317) @muﬂz
LRI PRI B:eOad—JL R A
e o9 | WABGHE 1:32.5 8-8-8-4 [39.6| — 6 485 | TE=E (KiR)
2 5 5 /r/l:_x 56.0 (2 1/2) (_5) RAEZ
L:TYHA XTI K BEVRRIFTR KEHE
- Ey— o1 _ B KR
37| 7| 7427 €% it 5 5 1(13/22.>6 2-2-1-1 | 40.5 5 (430) =
:T7IhtEy b BiITx—KREbh EEZ e
- 5 f 7 | BERMEE 1:32.8 5-5-3-3 | 40.4| — 3 466 | REEFD (KGR)
N - BRAEDEA = 54.0 o o) |HEAET
L:vv=>tw571L B:VR=>VUUT—L SRS
N . 76— _ BILES (5%F
s T4 F 4 TTA it 6 B 1.(353).6 7-7-6-6 | 40.9 1 (4_378) Eﬁgg( i)
R:TINHty b BE1EI RTS8 — s
o $5Ath :34. ~3-4- . — =HEE (KR
6lglg| 7T/ E2—% ft 6 | =l b Foas a7 ! ?_232) BAEH
RHIRG 4 TTZ B THFLAL Y H— KB a1 7405
o e s AAd B . 67— — =H=E (kiR)
Y BERZECERT o4 | AR AN IR M b o e
R:7L>FFE27s BIT7TFTa— _EoKk4is
o . R A8 :36. -1-5- . = TEERZE (BR)
s N 4 VAVIZAVI WAV o4 54.0 (15(??_&3) nlara i Rt € ‘z(;? TR
RN=VIT1 B:xe#ULIUZRZ Hth #2
@ 1—F—@&BIEf
13=zr= 4,7,8,1,3,2,6,5
Aol=5r= 4,7,8,1,3,2,6,5
30—7+— (1,7),3,8,4,6,2,5
43—+ — 7,1,3,5,8,6,2,4
[ RN
B OB 1 350M 714K 1-5 390M B E 1-5 820M &R 1-5-7 2,660
8 B 1 160/ 1-7 500 B H 1=% 1,300 JEH 1-5-7 10,130M
5 200M 5-7 890M
7 1504

ABTICOVTRDTEEERROODE, JHB LS,




